

$$y - 5 = \frac{-1}{5} (x - -2)$$

$$y + 5 = \frac{-1}{5} (x + 2)$$

$$5(y + 5) = -1(x + 2)$$

$$5y + 25 = -x - 2$$

$$5y + 25 + x + 2 = 0$$

$$5y + x + 27 = 0$$

5. $y = \frac{1}{x}$ at the point $(3, \frac{1}{3})$.

$$y = x^{-1}$$

$$m = \frac{dy}{dx} = -x^{-2} = \frac{-1}{x^2}$$

$$m = \frac{-1}{(3)^2} = \frac{-1}{9}$$

equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = \frac{-1}{9} (x - 3)$$

$$9(y - \frac{1}{3}) = -1(x - 3)$$

$$9y - 3 = -x + 3$$

$$9y - 3 + x - 3 = 0$$

$$9y + x - 6 = 0$$

equation of the normal

$$y - y_1 = \frac{-1}{m} (x - x_1)$$

$$y - \frac{1}{3} = \frac{-1}{-1/9} (x - 3)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$y - \frac{1}{3} = 9x - 27$$

$$y - \frac{1}{3} - 9x + 27 = 0$$

$$y - 9x + 27 - \frac{1}{3} = 0$$

$$y - 9x + \frac{80}{3} = 0$$

$$3y - 27x + 80 = 0$$

NAME IGWE, KAMSOCHI

DEPT MEDICINE AND SURGERY

MATRIC NO 19/MHSOI/196

SERIAL NO. 002

COURSE MAT104

1. $y = 2x^2$ at the point $(1, 2)$

$$y = 2x^2$$

$$m = \frac{dy}{dx} = 4x, \quad \frac{dy}{dx} \Big|_{x=1} = 4$$

equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 2 - 4x + 4 = 0$$

$$y - 4x + 2 = 0$$

equation of the normal

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - 2 = \frac{-1}{4}(x - 1)$$

$$4(y - 2) = -1(x - 1)$$

$$4y - 8 = -x + 1$$

$$4y - 8 + x - 1 = 0$$

$$4y + x - 9 = 0$$

2. $y = 3x^2 - 2x$ at the point $(2, 8)$

$$y = 3x^2 - 2x$$

$$m = \frac{dy}{dx} = 6x - 2, \quad \frac{dy}{dx} \Big|_{x=2} = 10$$

$$m = 6(2) - 2 = 12 - 2 = 10$$

equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 8 - 10x + 20 = 0$$

$$y - 10x + 12 = 0$$

equation of the normal

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - 8 = \frac{-1}{10}(x - 2)$$

$$10(y - 8) = -1(x - 2)$$

$$10y - 80 = -x + 2$$

$$10y - 80 + x - 2 = 0$$

$$10y + x - 82 = 0$$

3. $y = \frac{7x^3}{2}$ at the point $(-1, -\frac{7}{2})$

$m = \frac{dy}{dx} = \frac{6x^2 - 7}{4}$ (quotient rule)

$\frac{dy}{dx} \Big|_{x \rightarrow -1}, m = \frac{6(-1)^2 - (-7)}{4}$

$m = \frac{6+1}{4} = \frac{7}{4}$

equation of the tangent

$y - y_1 = m(x - x_1)$

$y - -\frac{7}{2} = \frac{7}{4}(x - -1)$

$y + \frac{7}{2} = \frac{7}{4}(x + 1)$

$4(y + \frac{7}{2}) = 7(x + 1)$

$4y + 4 + 7 = 7x + 7$

$4y + 2 = 7x + 7$

$4y + 2 - 7x - 7 = 0$

$4y - 7x - 5 = 0$

equation of the normal

$y - y_1 = -\frac{1}{m}(x - x_1)$

$y - -\frac{7}{2} = -\frac{1}{\frac{7}{4}}(x - -1)$

$y + \frac{7}{2} = -\frac{4}{7}(x + 1)$

$7(y + \frac{7}{2}) = -4(x + 1)$

$7y + \frac{49}{2} = -4x - 4$

$7y + \frac{7}{2} + 4x + 4 = 0$

$7y + 4x + \frac{15}{2} = 0$

$14y + 8x + 15 = 0$

4. $y = 1 + x - x^2$ at the point $(-2, -5)$

$m = \frac{dy}{dx} = -2x + 1$

$\frac{dy}{dx} \Big|_{x \rightarrow -2}$

$m = -2(-2) + 1 = 4 + 1 = 5$

equation of the tangent

$y - y_1 = m(x - x_1)$

$y - -5 = 5(x - -2)$

$y + 5 = 5(x + 2)$

$y + 5 = 5x + 10$

$y + 5 - 5x - 10 = 0$

$y - 5x - 5 = 0$

equation of the normal

$y - y_1 = -\frac{1}{m}(x - x_1)$